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(iii) @UE & H Y97 §&yl 1d 18 T aglasediy (MCQ) a9 ¥97 §&IT 19 TF 20
SyFHYT U T% STERT Teh-Teh 7% & J97 & |

(iv) gvgaﬁywy@rﬂ & 25 7% 3717 TG-FTIT (VSA) TR & 1-31 37h] & o7

/
(v) WUE T T F97 &1 26 @ 31 TF TG-IT0T (SA) FHR & diH-a17 37H & J97 3 |
(i) TUSTH T G&I732 T 35 % 15-3t1T (LA) FHR & Gia-gie 371 & J97 & |

(vii) WIS T T 97 T&IT 36 T 38 T YU I7ETI JTRT TR-TR 37H1 & F97 & /
Jdb YA 37937 § SR 3%y S1-3t 3H1 & 97 4 1297 17 & |

(viii) ¥¥7-97  Gu7 fasbey 787 3 7= 8 | TEf, @ve @ @ 2 yul 7, @Us 7T & 2 Ju)
4, Gvg g &2 Yo 4 d97 @98 & & 3 Il § HaRke laehcq & JIae 137 a1

g/

(ix) 81 FETvIF § &S HIad F71Y | T& HaTH & m = 22 hfrg, 7t srar

7

7 397 197 77/

(x) PPl & G afdd & |
T Ug &

3G @IS H Fglasedid Jo7 (MCQ) 8, 577 Jcdeh J97 1 3% H1 & |
1. Trafafea o @ forg fgama awietor o qat o1 IThd 4 7 ?

(a) 2x2-4x+8=0 b) —x2+4x+4=0

© 22— Lxi1-0 d 4x2-4x+4=0

J2

2. TS 14 em I T g9 % Brsa@s, SEH1 F5 Hi0 90° 7, i G =9 A
TS T B 2
(a) 22cm (b) 44 cm
(c) 88 cm (d 1lcm
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1)
(i)
(ii1)
(iv)
(v)
(vi)

(vit)

(viii)

(ix)

(x)

This question paper contains 38 questions. All questions are compulsory.
This question paper is divided into five Sections — A, B, C, D and E.

In Section A, Questions no. 1 to 18 are multiple choice questions (MCQs) and
questions number 19 and 20 are Assertion-Reason based questions of 1 mark
each.

In Section B, Questions no. 21 to 25 are very short answer (VSA) type
questions, carrying 2 marks each.

In Section C, Questions no. 26 to 31 are short answer (SA) type questions,
carrying 3 marks each.

In Section D, Questions no. 32 to 35 are long answer (LA) type questions
carrying 5 marks each.

In Section E, Questions no. 36 to 38 are case study based questions carrying
4 marks each. Internal choice is provided in 2 marks questions in each
case-study.

There is no overall choice. However, an internal choice has been provided in
2 questions in Section B, 2 questions in Section C, 2 questions in Section D and
3 questions in Section E.

. . 22 : )
Draw neat diagrams wherever required. Take © = - wherever required, if not
stated.

Use of calculators is not allowed.

SECTION A

This section comprises multiple choice questions (MCQs) of 1 mark each.

30/2/1

Which of the following quadratic equations has sum of its roots as 4 ?

(a) 2x2-4x+8=0 b) —-x2+4x+4=0

(c) \/§x2—%x+1=0 (d) 4x2—-4x+4=0

What is the length of the arc of the sector of a circle with radius 14 cm
and of central angle 90° ?

(a) 22 cm (b) 44 cm
(c) 88 cm (d) 11 cm
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30/2/1

I@ AABC~APQRH, /A=32°3 /R=65°%, dl / BHI 09 7 :
(a) 382° (b)  65°
(c) 83° d 97°

g p’ 3N ‘" Thd T g IR p’ &A1 ‘q’ 1 PN &7, a1 p’ 3T ‘g’ 1 HCF
T I 2

(a)  pq (b) p

(c) q d p+aq

T 3Ed ABCD & i 3fid B(0, 0), C(3, 0) 31 D(0, 4) 3, 39 3 A %
.

(a) (4,0 (b)  (0,3)

(c) (3, 4) d 4,3

Ifg iRt 9 3x —y + 8 = 0 3R 6x — ry + 16 = 0 g F&lUa @ gt
&, 0 1 W B

1 1
(a) —E (b) E
(c) -2 d 2
T A H 100 T & N W 18 100 Toh h! TEAT Afhd & | 30 9 H 9 Th
AT ATGTHAT TRl ST & | 39 9 W Ueh U1 o1 |1 3Afehd B shi TTIehdl

T BT 2

1 3
(a) 2—0 (b) %

1 7
(C) 2—5 (d) m

TR I x = a AN y = b g1 FEa @ arhT 9 4 -
(a) YO 9T Bidl &

(b) o5 (b, a) W Afcr=aa] Bl &

(¢) Ul Bt &

(d) a5 (a, b) W f=adl Bt 8
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3. If A ABC ~ A PQR with £ A = 32° and £ R = 65°, then the measure of

ZBis:
(a) 32° (b)  65°
(c) 83° d 97°
4. If ‘p’ and ‘q’ are natural numbers and ‘p’ is the multiple of ‘q’, then what is
the HCF of ‘p’ and ‘q’ ?
(@) pq b)) p
(c) q (d p+q
5. The coordinates of the vertex A of a rectangle ABCD whose three vertices
are given as B(0, 0), C(3, 0) and D(0, 4) are :
(a) (4,0 (b) (0, 3)
(c) (3, 4) d 4,3)

6. If the pair of equations 3x —y + 8 = 0 and 6x — ry + 16 = 0 represent
coincident lines, then the value of ‘v’ is :

1 1
_ = b -
(a) 5 (b) 2
(c) -2 d 2
7. A bag contains 100 cards numbered 1 to 100. A card is drawn at random

from the bag. What is the probability that the number on the card is a
perfect cube ?

1 3
(a) % (b) %
1
(C) 2—5 (d) m

8. The pair of equations x = a and y = b graphically represents lines which
are :

(a)  parallel
(b)  intersecting at (b, a)
(c) coincident

(d) intersecting at (a, b)
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10.

11.

12.

30/2/1

I¢ TqIG 6x2 + 37x — (k — 2) I Teh Ih, GO Y[ 1 Goshd al, al k &l
T ST 8T 2

(a) -4 (b) -6
(¢) 6 (d) 4
U 3 A, Freeht = “d’ =, 1 AU IEI &A% T BT 2
(a) 3nd’ b) 2nd?
1 92 3 2
(C) E T d (d) Z T d

fe 9 fooer v Ty 3BT A B, O AUH-H-ARIEH Tk U Ud B hl
TTRrehdT T BT 2

(a) (b)

0 | W~

3
8

5

0|

& 7% i H, DE | BC | A AD = 2 313, DB = AE = 3 [ 3R
EC=XW§%,?ﬁX${m@m:

(a) 2 (b)
(¢) 5 (d)

oo R
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9. If one zero of the polynomial 6x2 + 37x — (k — 2) is reciprocal of the other,
then what is the value of k ?

(a) -4 (b) -6
(¢) 6 (d) 4

10. What is the total surface area of a solid hemisphere of diameter ‘d’ ?

(a) 3nd? (b) 2md?
1 9 3 2
(C) 5 nd (d) Z ntd

11. If three coins are tossed simultaneously, what is the probability of getting

at most one tail ?

3
(a) g (b)

0 | i~

5
(c) g (d)

0|3

12. In the given figure, DE || BC. If AD = 2 units, DB = AE = 3 units and

EC = x units, then the value of x is :

(a) 2 (b)
(¢) 5 (d)

oo WP
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13.

14.

15.

16.

17.

Q%H@ﬁﬁ%ﬁﬁﬂééicm?ﬁﬁ% |3H§§W7:20a.m.3ﬁT7:55a.m.%
= S I Ta g, 98 B

35Y° 35
(c)  35° d  70°

UG p(x) = X2 + 4X + 3 % IIH @ :
(a 1,3 (b) -1,3
© 1,-3 d -1,-3

& TS ARG H, Th g9 o JIUTT Th Igyst PQRS ST 8 | I8 PA + CS TS
2

(a) QRS b) PR
(¢ PS%® d PQ

aﬁoc?:ﬁTB,%Elﬁagqap(x)=x2—ax—b%W§,ﬁﬁoc2+[32WII'IT-[
B

(a) a2 _—2b (b) a2+ 2b
() b%-2a @ bZ+2a
2 + % = 1 e s 3tefi & o7 B5YS 1 &t B
(@) ab (b) % ab
1
(©  ab d 2ab

30/2/1 ~ o~~~ Page 8



13. The hour-hand of a clock is 6 cm long. The angle swept by it between
7:20 a.m. and 7:55 a.m. is:

35Y 35Y
(a) (Z) (b) (7)

()  35° (d  70°

14. The zeroes of the polynomial p(x) = x2 + 4x + 3 are given by :
@ 1,3 (b) -1,3
(c) 1,-3 d -1,-3

15. In the given figure, the quadrilateral PQRS circumscribes a circle. Here
PA + CS is equal to :

(a) QR (b) PR
(c) PS d PQ

16. If o and B are the zeroes of the quadratic polynomial p(x) = x2 — ax — b,
then the value of o2 + B2 is :

(a) a%2-2b (b) aZ+2b
© b -2a @ b%+2a
17. The area of the triangle formed by the line 2 +% = 1 with the coordinate
a
axesis:
() ab (b)  Zab
1
(c) Zab (d) 2ab

30/2/1 ~ o~~~ Page 9 P.T.O.



18. < TS THfd H, AB || PQ| I AB=6cm, PQ=2cm 3N OB=3cm?%?,
OP i &g gt

(a) Y9cm (b) 3cm
(c) 4 cm (dd 1cm

o7 &I 19 3N 20 34FHIT T T ERT ¥ & 3K YedFH I BT 1 3P
& 1 51 F97 1Y TT & (5774 T @l STHI (A) T TR 1 T (R) GRT 3l 137 797
g | 37 I97 & Tg I 719 13T 7T B1gl (a), (b), (c) 3K (d) T & F7H 1977 |
(a) Ifh (A) 3R d (R) M1 H&l § 3N doh (R), BT (A) h1 Tl
ST Hdl 2 |
(b) P (A) 3R Teh (R) SFI &I 7, T b (R), ATWHAA (A) 1 F&l
ST g1 HAT B |
(c)  ANTH (A) Tl B, T b (R) Td & |
(d) fed (A) Terd 7, W d%h (R) T 7 |

19.  3YFYT(A): 9a % el fog w eaRid@n woef foig @ S areft Brsn w o

Bl & |
7% (R) : a1 fog @ g0 W T 78 TRi@isti Sl dFergal SR gl @ |
20. S7YFHYT (A): FGIG p(x) = x2 + 3x + 3% q ATA(AH IIH @ |
7% (R) : T fgaTd 9gug & 31fieh-4-31f¥e g1 arEdfaeh Y 8l §hd 3 |
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18. In the given figure, AB || PQ. If AB = 6 cm, PQ = 2 cm and OB = 3 cm,

then the length of OP is :
(a) 9cm (b) 3cm
(c) 4cm (d 1lcm

Questions number 19 and 20 are Assertion and Reason based questions carrying
1 mark each. Two statements are given, one labelled as Assertion (A) and the
other is labelled as Reason (R). Select the correct answer to these questions from
the codes (a), (b), (c) and (d) as given below.
(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).
(b)  Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).
(c) Assertion (A) is true, but Reason (R) is false.
(d)  Assertion (A) is false, but Reason (R) is true.

19. Assertion (A): A tangent to a circle is perpendicular to the radius
through the point of contact.

Reason (R): The lengths of tangents drawn from an external point to a
circle are equal.

20. Assertion (A) : The polynomial p(x) = x2 + 3x + 3 has two real zeroes.

Reason (R): A quadratic polynomial can have at most two real zeroes.

30/2/1 ~a~~ Page 11 P.T.O.



Qs @

$F GV ¥ 37l TY-ITHIT (VSA) TR & 97 &8, 579 J&% & 2 375 & |

21.

22,

23.

24.

25.

fag fifvw for 2 + V3 & ufmy T B, fean mn 2 f6 V3w stuimm
& 2 |

(%) IS 4 cot2 45° — sec2 60° + sin2 60° + p = %%, dql p & O 1 HISY |

AT

(@) 9f¢ cosA+cos2A=1%7, dl sin2 A + sin A 1 U 14 HIfT |

gy foh o5 (- 2, 8), (8, 3) 3TN (6, 7) Teh THAIU Ty o MY 7 |

(%) Uk HHde SEHH W L R H BEn, TR A FAE A V3 T e
2 | g3 1 AT [ I |

AT

(@) oW % wh fog @, S HR % de-fag ¥ 30 m hl gl W &, HER
TSRer =1 I R0 30° 3 | HHR <h =18 F1 hIfg |

G T3 SR H, I A hg O 7 | fog A ¥ 36 99 W AB 3R AC TRi@d
il 78 7 | ¢ ~ BAC = 65° 8, @ ~ BOC ! WY 1d HIT |

30/2/1 ~ o~~~ Page 12



SECTION B

This section comprises very short answer (VSA) type questions of 2 marks each.

21. Prove that 2 + /3 is an irrational number, given that V3 is an irrational

number.

22. (a) If 4 cot?45° — sec2 60° + sin2 60° + p= %, then find the value of p.

OR
(b) If cos A + cos? A = 1, then find the value of sin? A + sin? A.

23. Show that the points (-2, 3), (8, 3) and (6, 7) are the vertices of a
right-angled triangle.

24. (a) The length of the shadow of a tower on the plane ground is +/3

times the height of the tower. Find the angle of elevation of the
sun.

OR

(b)  The angle of elevation of the top of a tower from a point on the
ground which is 30 m away from the foot of the tower, is 30°. Find
the height of the tower.

25. In the given figure, O is the centre of the circle. AB and AC are tangents
drawn to the circle from point A. If £« BAC = 65°, then find the measure of
2 BOC.

30/2/1 ~a~~ Page 13 P.T.O.



Qus 1

3T GV § G-I (SA) FHR & 97 &8, 79 I4% & 3 375 & |

26. (%) @A 18180 3R 7575 HI IUNT PHEeA fafg grm LCM Fm@a
HIfS | 39 q wEeA %1 HCF ot 3ia $ifve |
HAYAT

(@) = dfeat 6, 12 3R 18 el & Stauel W asdl § | g A ol wifeat
T A1 6 a.m. WS &, a 3Geh I o AH1 Toh &Y el STl ?

27. fag S .
1

1 1 )
—cos 0 - —sinf | =
cos O sin O tan 0 + cot O

28. Mg fag Q(0, 1), &gt P(5, - 3) 3 R(x, 6) ¥ THEAH gl W &I, A x % dH
T AT |

29. UH HR o q AR (wipers) &, A TER Hfi A<a1icsh T8 Bd 8 | TI
IR hI It HI TS 21 cm & X 120° % IV qh FH HL THIS T Hohd]
2 | g 9fadi 1 Jceh ggR o @iy A &Eed | g ST 8, 98 3

Hifre |

30. (&) 3 INgs gt e

2x + 3y =7 AUl 2ax + (a + b)y =28
% IURfHd ®9 A 3FF BA &, dl ‘@’ 3 D’ AW [1q HIfT |

AASAT

(@) d=fe 217x + 131y = 913 3R 131x + 217y = 827 &, dl x 3N y & UH
3Td i o U GHIRT B hifaT |

30/2/1 ~ o~~~ Page 14




SECTION C

This section comprises of short answer (SA) type questions of 3 marks each.

26.

27.

28.

29.

30.

30/2/1

(a)  Find by prime factorisation the LCM of the numbers 18180 and
7575. Also, find the HCF of the two numbers.

OR

(b)  Three bells ring at intervals of 6, 12 and 18 minutes. If all the

three bells rang at 6 a.m., when will they ring together again ?

Prove that :

1 1 ) 1
—cos 0O - —sinf | = .
cos O sin O tan 0 + cot O

If Q(0, 1) is equidistant from P(5, — 3) and R(x, 6), find the values of x.

A car has two wipers which do not overlap. Each wiper has a blade of
length 21 cm sweeping through an angle of 120°. Find the total area

cleaned at each sweep of the two blades.

(a)  If the system of linear equations
2x + 3y =7 and 2ax + (a + b)y =28

have infinite number of solutions, then find the values of ‘@’
and ‘b’.
OR
(b) If 217x + 131y = 913 and
131x + 217y = 827,
then solve the equations for the values of x and y.

~aa~ Page 15 P.T.O.



31.

32.

33.

34.

30/2/1

dl 7§ HAId H, I H g O 991 QPR g0 % fog P W wmi@n 7 | fog
HIVT fh 2 QAP + £ APR = 90°.

AT U 45, 39, 33, ...

oo
T <hINT |

(%) THZ-AA ¥ 75 m Sl ARE-BHH o PG § ¢@4 T 3 TG 8N
I B 30° AR 60° & | IC ABEHT o Th & AN Th

Qug g
39 TS H FH-307 (LA) PR & J97 8, [978 J9% & 5 3% & |

& forae 9SG T IMTHA 180 BT 2 ergt I <hl

SIS G SIS o Sl UI® B, a1 & @il & sftd hl g F1d hIT |
(V3 =1-73 =1 3EmT Hif)

AASAT

(@) 9ffi % T fog ¥ TH 30 m S WA o R 0 ol T HaR HAR
T 3R RRE o IFIT IV HE: 30° R 60° & | FAX HAR Hl ST

T HINT | (V3 = 1-73 1 TN shif)

Teh B A Al T foh T T W T TN ¥ oA el i sl T&AT T
3 fire &1 100 s1afemt A foradt 8 R 38 = & 78 diferes § grIRE fohan
T 2 | fefafaa sAtemet 1 Arew qen Aredss 9 I |

SR h

: 0-10[10-20(20-30|30— 40|40 — 50|50 — 60|60 — 70|70 — 80

&

ST

(srarfer) 7 14 13 12 20 11 15 8
R N N

Page 16




31.

In the given figure, O is the centre of the circle and QPR is a tangent to it
at P. Prove that £ QAP + £ APR = 90°.

SECTION D

This section comprises long answer (LA) type questions of 5 marks each.

32.

33.

34.

30/2/1

How many terms of the arithmetic progression 45, 39, 33,

taken so that their sum is 180 ? Explain the double answer.

(a)

........

must be

As observed from the top of a 75 m high lighthouse from the

sea-level, the angles of depression of two ships are 30° and 60°. If

one ship is exactly behind the other on the same side of the

lighthouse, find the distance between the two ships.
(Use V3 =173)

(b)

OR

From a point on the ground, the angle of elevation of the bottom

and top of a transmission tower fixed at the top of 30 m high
building are 30° and 60°, respectively. Find the height of the
transmission tower. (Use /3 = 1-73)

A student noted the number of cars passing through a spot on a road for

100 periods each of 3 minutes and summarised it in the table given

below. Find the mean and median of the following data.

N“f;g‘;”f 0-10|10 — 20 |20 — 30|30 — 40|40 — 50|50 — 60|60 — 70 | 70 — 80
Freql_lency 7 14 13 12 20 11 15 8
(periods)

~——~~~ Page 17 P.T.O.




35. (%) TH FYS ABC &l YU AB 3R BC Tq1 HIEIh1 AD Toh 3 BIs
PQR 1 ShHST: YSIsTi PQ TR QR de HIfedeht PM & GHIUN 3 |
T9se fh AABC ~APQRZ |
HAAAT
(@) ¥R FIgYSt ABCD sl 491 CD % #ed-fog M € U @1 BM @it T3
St faspui AC 1 fig L W 3R w@1s 8 o AD i fig E @ et 2 |
fag it f% EL = 2BL.

Qs e

59 GV § 3 YR 37eqT STERT I97 & 1978 Jcdb & 4 37% & |

TRIUT T — 1
36. U fqael™d & difNes fdad W yaueshl 9 394 @ gHER faanfdai i Tehe
QR & |-y Wia-fag off o = | vl wih fug fome T smefa &
YT SFETAT T qAT $HRT MR ABCD dH <hl 3R ¥ fe@ar ar | faew
TATSTT R @ T 20 Ui o7 AT 7 |

STE & MR W, FH=fcifgd gt o I ST
(i)  =qufs ODCO & SEhet T B ?
(ii) A AOB T &% JTd hIfWT |

(iii) (%) ABCD BMifhd WTT 1 fear AT &1 Fol @ F1 8 2
HAAAT

(i) (@) =9 CD e weE w17 ?

30/2/1 ~~~~ Page 18



35. (a) Sides AB and BC and median AD of a triangle ABC are

respectively proportional to sides PQ and QR and median PM of
A PQR. Show that A ABC ~ A PQR.

OR

(b)  Through the mid-point M of the side CD of a parallelogram ABCD,
the line BM is drawn intersecting AC in L. and AD (produced) in E.
Prove that EL = 2BL.

SECTION E

This section comprises 3 case study based questions of 4 marks each.

Case Study -1

36. In an annual day function of a school, the organizers wanted to give a
cash prize along with a memento to their best students. Each memento is
made as shown in the figure and its base ABCD is shown from the front
side. The rate of silver plating is ¥ 20 per cm?.

Based on the above, answer the following questions :

(1) What is the area of the quadrant ODCO ? 1
(i1))  Find the area of A AOB. 1
(iii) (a) What is the total cost of silver plating the shaded part
ABCD? 2
OR
(iii) (b)  What is the length of arc CD ? 2

30/2/1 ~a~~ Page 19 P.T.O.



ThIUT AEqYA - 2

37. TUH HIH GHME H HH G 0@ % HY H qUH I 8 | Th HY SOHHN 3
frgept =aM@ 7 cm AW FEE 14 cm B 3N GHU FHY AYMAT HAHR Hl &
fEe =@ 21 em R |

+B

3T o IMYR W, F=fifga geai o 3w dife

(i) SRR Y o YR Sl SThA I hHIFIT |

(i) (%) ST HY hHI FHAT FT 7 ?

AT

(i) (@) SRR &Y I FHAT JTd HIRT |
(iii) SR Y I T3 I &THA FT 8 ?

30/2/1 ~ e~~~ Page 20



Case Study - 2

37. In a coffee shop, coffee is served in two types of cups. One is cylindrical in
shape with diameter 7 cm and height 14 cm and the other is

hemispherical with diameter 21 cm.

+BF

Based on the above, answer the following questions :

(1) Find the area of the base of the cylindrical cup. 1

(ii)) (a) What is the capacity of the hemispherical cup ? 2
OR

(i1) (b)  Find the capacity of the cylindrical cup. 2

(iii) What is the curved surface area of the cylindrical cup ? 1

30/2/1 ~a~~ Page 21 P.T.O.



38.

ThI0T YA - 3

FgeL-aTyTia frgor fret ff UEt freor ugfa w1 defia wtar @ SiogeEe
THRUT o Tl el 1 ITAN Ll g | MAHeh foame™ T’ |, dAedHifean

TS AISHISTT bl TGRIA i o foTC I STTI T ITANT fohal AT Hehal 7 |
99 % 1000 TfHer R Areafter foama™ Wt gdeu fman T or 31t

3Teh 918 A SR ¥, Ieh MR T Ic Aifiehd kAT T T |

30/2/1

L e 101 371 388
HEU hl G 1-10 [11-20 | 21-50 |51—100 -
oot < wen 250 200 290 180 80

U Tormer™ w1 Argesan wE TR e | Al

()  FgesAr =@q fohu U formem # 100 ¥ 1w gH I IR

1 HITY |

i) (%) g 94 U U o™ @ 50 A1 50 § HH HRK gH HI
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HAAAT

(i) (@) Jgeeda 99 Ty MU foeme™ # 20 § 31fUs HRX 7 8 hl
TTRIehe Td I |

(iii)  FTgoSA =¥ TRU MU fo=me™ § 10 A1 10 T HH HR T ohl TR

T HIFT |
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38.

Case Study -3

Computer-based learning (CBL) refers to any teaching methodology that
makes use of computers for information transmission. At an elementary
school level, computer applications can be used to display multimedia
lesson plans. A survey was done on 1000 elementary and secondary

schools of Assam and they were classified by the number of computers
they had.

30/2/1

Number of 1-10 | 11-20 | 21-50 |51—100 |10t and
Computers more
Number of 250 200 290 180 80
Schools

One school is chosen at random. Then :
(1) Find the probability that the school chosen at random has more
than 100 computers.

(ii) (a) Find the probability that the school chosen at random has

50 or fewer computers.
OR

Find the probability that the school chosen at random has
no more than 20 computers.

Find the probability that the school chosen at random has 10 or
less than 10 computers.

i) (b

(iii)
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